
L3(8).6 (mod 3)

blocks defect matrix

G : 1 3 10× 2
2 3 10× 2
3 1 3× 1
4 1 3× 1
5 2 6× 2
6 0 26461 = χ9+, ϕ9+

blocks defect matrix

7 0 26462 = χ15+, ϕ15+

8 0 26463 = χ21+, ϕ21+

9 0 26464 = χ27+, ϕ27+

10 1 3× 1
11 0 19711 = χ70,0+, ϕ42,0+

12 0 19712 = χ70,1+, ϕ42,1+

Block 1: ϕ1,0 ϕ33,0

11 = χ1,0 1 .
13 = χ1,2 1 .
15 = χ1,4 1 .

5111 = χ33,0 . 1
5113 = χ33,2 . 1
5115 = χ33,4 . 1

15331 = χ34,0+ . 3
5121 = χ61,0 1 1
5123 = χ61,2 1 1
5125 = χ61,4 1 1

ϕ1,0 = 11
ϕ33,0 = 5111

Block 2: ϕ1,1 ϕ33,1

12 = χ1,1 1 .
14 = χ1,3 1 .
16 = χ1,5 1 .

5112 = χ33,1 . 1
5114 = χ33,3 . 1
5116 = χ33,5 . 1

15332 = χ34,1+ . 3
5122 = χ61,1 1 1
5124 = χ61,3 1 1
5126 = χ61,5 1 1

ϕ1,1 = 12
ϕ33,1 = 5112

Block 3: ϕ2,0

721 = χ2,0 1
723 = χ2,2 1
725 = χ2,4 1

ϕ2,0 = 721



Block 4: ϕ2,1

722 = χ2,1 1
724 = χ2,3 1
726 = χ2,5 1

ϕ2,1 = 722

Block 5: ϕ3+ ϕ34+

4381 = χ3+ 1 .
30661 = χ37+ . 1
30662 = χ43+ . 1
30663 = χ49+ . 1
30664 = χ55+ . 1
35041 = χ62+ 1 1

ϕ3+ = 4381
ϕ34+ = 30661

Block 10: ϕ40,0+

13141 = χ68,0+ 1
13142 = χ68,1+ 1
13143 = χ68,2+ 1

ϕ40,0+ = 13141


